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Note: Figures to the right indicate full marks.

(3.1 a) What is managenent accounting? Explain the Scope of management accounting. {69}

b} Discuss the role and functions of management accountant, 109)
OR
2.1 Explain the advantages and limitations of management accounting? (18!

.2 The following particulars are available from records of Diya Ltd a manufacturing

company for 40% and 60% level of activity. {17

_r Level of activities 40% 60%
Production units 24,000 units i

Cost of direct materials <. 68,400 3. 1,47,600
Direct wages ? T.1,15200 |
Indirect wages T. 48,000 3. 72.000
Fixed expenses 3. 2,47,500 T
Factory overhead (50% fixed) ? 50,400 !
Administrative overhead | %. 73,800 %, 88,200
Selling overhead I %.59,100 T. 69,900

Prepare a flexible budget at 50%, 75% and 100% of capacity of production and find cut
Per Unit Cost and Total Cost.
OR
Q.2 Prepare cash budget from Aptil to June 2022. i

. Cash balance as on 1-4-22 ¥, 40,000,
2. Purchase:

Purchase in the month of March 1s 3.2,00,000 and after it will increase a1 the raie of
20% per month. The purchases wiil be on the basis of 50% at Cash (On which 10%
Discount will be recetved) and 50 % at credit, the payment for which will be made
after one month.

3. Estimated Salary: Monthly . 20,000 (is to paid on 7" day of next month). Salary witl
be increase by 10% itom the month of May.
4. Lag of Payment:

a. Production Expenditure 72 months
b. Office Expenditure { months
c. Sales Expenditure 2 Months
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5. Sales: Sales for the Month of February has been ¥. 3,60,000. The sales increase by
%, 40,000 per month. The proportion of Cash Sales and Credit sales is 1:1. The
payment of credit sales is received after one month.

6. Other details:

Month Production Expenses | Office Expenscs Sales Expenses |
February 20,000 20,000 54,000 |
March 22,000 23,000 18,000

April 24,000 25,400 22,000

May . 26,000 29,280 28,000

June 28,000 32,000 32,000

Q.3 a) From the following Particular Calculate:

Q.3

1. P.V Ratio

=]

Break Even Sales

. Margin of Safety

. Sales required to earn profit of T. 4,50,000
. Profit when sales are T, 30,00,000

. Sales required to earn loss of ¥, 1,50,000

3
4
5
6. Margin of Safety for a profit of T. 6,00,000
7
8

. Variable Cost
Fixed Cost Z.4,50,000
Profit %, 3,00,000
Sales %, 15,00,000

b) What is CVP analysis? Explain the assumption and chatt of C'VP analysis.

OR
The following particulars have been extracted from the books of Vyom Ltd.
Year Total Sales %, Total Costs 3.
2021 3,75,000 4,50,000
2022 7,50,000 6,75,000
Calculate:
1. Profit Volume Ratio
2. Variable Expenses for both the year
3. Fixed Expenses
4, Break Even Sale
5. Margin of Safety for 2022 and profit at a sale of . 6,50,000
6. Margin of Safety is T. 2,25,000, find out profit,
7. Required sales to earn net income of 10% of sale in 2023.

(2
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Q.4

Q.4

8. Find out required sale, if the company desired to earn after tax Profit of Z. 95,000
during 2023. (Tax rate 50%)

The standard material output required for 1,000 kgs of finished product are given below:

[17]
Material Quantity (Kgs) - Purchase Price per Kg T.

A 450 20

B 400 40

C 250 60
1,100
Standard Loss 100
Standard Qutput 1,000

Actual production in a period was 20,000 kgs of finished product for which the actual
material used and the price paid thereof were as under:

 Material Quantity (Kgs) Standard rate per Kg %,
A 10,000 19
B 8,500 42
C 4,500 65
Calculate the following:
1) Material cost variance
2) Material Price Variance
3) Material Usage Variance
4) Material Mix Variance
5) Material Yield Variance
OR
The standard labour employment and the actual labour engaged of different group of
labour in a week for a job are as follows: [17]
Particular Group [ Group 1J Group 111
Standard no. of workers 32 12 6
Actual no. of workers empleyed - 28 18 4
Standard wage rate per hour ¥, 3 2 1
Actual Wage rate per hour T. 4 3 2

During the 40 hours working week, the group produced 1,800 standard labour hours of
work, Calculate:

4) Labour cost variance

5} Labour Rate Variance

) Labour Efficiency Vartance

4) Labour Mix Variance

5) Labour Yield Variance
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